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ANSWER FOR REFERENCE

marks)

(a) With reference to source B, identify and describe the phenomenon shown in the cartoon. (4

The candidate:

® identifies accurately and describes clearly the phenomenon shown in the
cartoon, for example,

1. the phenomenon of feigning injury is shown in the cartoon.

2. Source B mentions a case of feigning injury; the mainland teenagers
involved blackmailed for compensation.

3. Source A shows a man lying far away (15 meters) from the car. He
pretended that he was hit and would like to ask for compensation (of
1000 yuen).

4. The policeman’s comment (“you again’) and the words of the driver (“I
should have listened to my friends’) imply that the feigning injury cases
often happen.

5. Installing CCTV seems to be the only way for the drivers to protect
themselves from being blackmailed as Chinese usually are not willing to
go to the police station and be the witness.

® describes the phenomenon but the description lacks details or contains
misinterpretation of the problem.

1-2

® fails to identify the phenomenon/ makes no attempt to answer the question.




gives an answer which is not relevant to the question.

(b) According to the sources above and your own knowledge, discuss the potential impact

caused by the phenomenon shown in (a). (8 marks)

The candidate:

identifies and explains the potential impact of the feigning injury
phenomenon (at least THREE) clearly and logically with an in-depth and
comprehensive analysis of the current situation in China from different
perspectives.

shows an in-depth understanding and an appropriate application of the
relevant knowledge and concepts, e.g. national image, personal safety, social
harmony, law and order, etc.

Point of consideration:
1. Personal perspective
» Adversely affects personal safety
2. Social perspective —
» Corrupts social value and leads to no mutual trust
» Adversely affects social harmony
» Discontent with the government
3. Economic perspective
» Affects tourism
» Wastes the manpower of police
» Drivers have to install camera to protect themselves

provides a well-structured and in-depth discussion, demonstrating a high
level of critical analysis.

7-8

identifies and explains the potential impact of the feigning injury
phenomenon, but the analysis might lack details in parts or tends to focus on
certain perspectives.

provides a well-structured discussion, which demonstrates some evidence of
critical analysis though it might lack details in parts.

5-6

identifies and explains the potential impact of the feigning injury
phenomenon with a brief and inadequate explanation or partially correct
explanation.

gives a brief discussion with organization; expresses his/ her ideas vaguely.

3-4

identifies and explains the potential impact of the feigning injury
phenomenon with partially correct explanation by applying knowledge or




concept on a superficial level, which indicates a lack of understanding of the
issue.

gives a shallow discussion with little organization/ without focus; expresses
his/ her ideas vaguely.

provides an irrelevant answer.
makes no attempt to answer the question.




